oo oodn

0 0 1ed 60

gobgoboooobooo



§OoOO0OO0OO0OODOOOOO

1100000000000

00003000000000000000000000000003m3000000000000
000000012m00000000000
0000000000 00D000O0O0O0 O = 336.4m°
0000000000 O0o0o 336.40164.1(00) = 2.05m°Om
1.20000000000000
O O O O 0 O 0 O O
2050 19100 20420 30360 20240 30360 20420 19100 2050
1 I I I L1
JAY AN JAN JAY A
550 30900 50600 50600 30900 550
163000
164100
0
100000000
O v O = 2.05x 30.36% 2 = 1245
O vV O = 2.05x 19.10x 2 = 78.3 m°
0 v O = 2.05x 20.24 = 41.5 m
O v O = 2.05x 20.42x 2 = 83.7 m’
0 vV O = 2.05x 01.5+0.55(000)0x2 = 8.4 m
sV = O 336.4 m



MODEL



6v 6 T4 1T T
6 8 | L g (9 ¢ 1
(Aep ze = 3wl ) ot

61 6E T4 1T T

6 8 | [ S E | ¢ T

( Aep ¥ = awiL )

6 6€ Y4 1T T

8 / q (9 ¢ 1

( Kep ¥ = aWIL )

6 6 Y4 1T T
8 ] L G c ¢ ]

( Kep ¢ = aWIL )

6 6 T4 1T T
38 g € ¢ |

( Aep ¢ = NIl )

6 6 T4 1T T

38 g l

( Aep z = awiL )

6 6€ Y4 1T T
8 ¢ |

(Aep T = aWIL )

67 6 14 1T T
| ¢ |

(Aep T = 3WIL)

6 6 T4 1T T

( Aep 0 = 3WIL )

6 6€ Y4 1T T

( Rep 0 = 3nIL )

di1S

di1S

dals

dil1S

di1S

di1S

dals

dil1S

di1S

di1S



1300000000000

o0boo0obDoooo0oooO0ooobooOoobooOoooOooDz2020000000000DOODIOO
0ljooooooooocooogo

0 *c(t)0 {tO0 (a+bt)}0 d(i)D Fck
0 tk(©)0 cO v Fc(t)

oooo
O'c(t) 000t0000000000000000N/m2)
Otk(t) 000t0000000000000000
O'ckd 0O0000O0O00000OO00WN/m2)
000 000000
O 0000000000000000 =28
O 0c00.44020020 000000000000 O0[0O0]00
a,b,d O0OOOO

ggoogon a b d(28)
goooooogoogg 4.5 0.95 1.11
goooooogooogn 6.2 0.93 1.15
gooogoogoogg 2.9 0.97 1.07

oooo
Orc(28) 024 (N/mm2)
Otk(28) 02.155 (N/mm2)

goboobooobooobooooobooooboooboooboooobooobooboboOooooooOoooon
gboboooooba=00000000000DOO0DODOOOODOOODOOOODOODODODOO
gbogoooooao

O"c(28)Ja 012 (N/mm2)
Otk(28)0a O1.0 (N/mm2)



0000T

000900%7000€ 000¢

000T

00500 00€  00C

gd gooooobogd

w304



0000t 000900¥000€ 000¢ 000T 005007 00E 00C 00T 0§ Or O0¢€ 0¢ 0] S v € [4 T

|
\\\\\\\\\ ---t--—-----————"—"—"\=-"—-"—-"—-"—-"-"-""1-"-"+---"r-—-"-"-"t-—---—-"—-"—-">""\-"-">-">">-"—-"—-"~-"4-"-"+-"—-"="0F--"—-"—-"—"F-"—-"—-"—-"—-"—-"—-"—|/-"-"—"—-"—-~"—-~"~-~"~-~"f-"—-~"f-—-—|-—-—-—-—-|-—-—-—-—- - = -7
\\\\\\\\\ |
| | | | |
\\\\\\\\\\\ R e e ]
|
|

— L ) e e e |

ooy —-»—— | e ]
T T I T I T [ T T

L — i iy e | ey

0000T

(0[0[010)7%

it et s il e e el e s el e [t Rttt B At et Tl
\\\\\\\\\ e 5 Ay
\\\\\\\\\ S A
| i I I | i i i i I i I I
\\\\\\\\\ [t B el e el i R et e ] ettt el il e e e el el B e il
\\\\\\\\\ ()
| | ] | | | | | | | | | ]
\\\\\\\\\ e e e e e e e |
\\\\\\\\\ e 5 Ay
\\\\\\\\\ I X A
| | | | | | i | | | i | |
\\\\\\\\\ [t B el e el i R et e ] ettt el il e e e el el B e il
1

0000S

oo gooob - bogo



14000000000

gboboooooooboboboboobooboooobooboboboboboobooooooboon
gbogoboooooooooooan

oood O g (t,to)d0.40 g foO {B f(t)-B f(to)}
oooo 0 € cs(t,to)d e sol B s(t-to)

gogn U ogogodgogogogon

goog Y fo € SO A
oo 0.8 -10x 10"-5 60
0000 90% 1.3 10x 107-5 10
godoo 70% 2.0 25x 10"-5 3 ooo
goono 40% 3.0 50x 10"-5 2

gogn g 200

uododogogogogn

No oooog ) ooppiog [ooogon
1 1 0.40 0.0000044
2 2 0.40 0.0000086
3 4 0.86 0.0000155
4 6 0.94 0.0000206
5 8 1.03 0.0000240
6 10 1.08 0.0000291
7 20 1.30 0.0000420
8 40 1.53 0.0000574
9 60 1.67 0.0000659
10 80 1.77 0.0000751
11 100 1.87 0.0000836
12 200 2.14 0.0001113
13 400 2.42 0.0001354
14 600 2.54 0.0001536
15 800 2.62 0.0001636
16 1000 2.71 0.0001735
17 2000 2.90 0.0002008
18 4000 3.09 0.0002105
19 6000 3.16 0.0002170
20 8000 3.24 0.0002186
21 10000 3.28 0.0002203
22 20000 3.31 0.0002219




0 10 100 1000 10000

()

2219

e s(u)

0 10 100 1000 10000

()



<EN
es o

SO
oo
dils

M
4371
es o
SO

go
dals

00070

g

680°0-

g

T00°0-

go

90T "0~

g

00070

g

90T "0~

g

T00°0-

g

680°0-

g

00070

g

20
oo

U 0O 00000
dils

000°T

88170
8¢
oo
0T

800°T

99¢°0
T€
oo
0T

€00°T

600
6¢
oo
0T

170°T

86770
43
oo
0T

S00°T
12740
0€
oo
0T

170°T

86770
43
RN
0T

€00°T

60v7°0
6¢
oo
0T

800°T

99¢°0
1€
oo
0T

000°T

88T°0
8¢
oo
0T

aad
w30l
20
oad

0 0O Ooooo
d3l1S

O

8870
97070

g

88770
¢0070

g

8870
€L2°0

g

887°0
9070

g

88v°0
18¢°0

g

8870
¢00°0

g

8870
971070

g

oo
w304
20
oo

0 O 0oooo
d3l1s

[ I Ry

O

gogon

gooooote




(quu/N)

(quu/N)

(ovay)

(ds1a)

60T

(2x9)

66

€ | ¢

I

( Aep ze = aNIL ) 0T = 43S

€

ON ® 19}



000°0

00S0

000°T

(edN)

€ - ON ®eld) SS341S av'is





